eometry Unit 3: Similarity in Triangles Notes

65 Skills Practice- Shadow Math: Similar Triangles in the Real-world

1. A building casts a 110 ft. shadow at the same time that a 30 ft. flagpole casts as 36 ft. shadow.
Make a sketch illustrating the scenario and then find the height of the building.
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2. The Washington Monument casts a shadow that is about 500 feet long, a 40-foot flagpole
ketch and find the approximate

nearby casts a shadow that is about 36 feet long. Make a s
height of the monument. Round your answer to the nearest foot.
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3. A man whois 6 ft. tall casts a 4 ft. shadow. How tall is a nearby tree that casts a 10 ft. shadow?
Make a sketch and calculate the approximate height of the tree.
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A yard stick casts a 5-foot shadow. How tallis a street light that casts a 15-foot shadow at the

same time?2 Create a sketch representing the problem, and then find the approximate height

of the street light ' .
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5. A flagpole 4 meters tall casts d 6é-meter shadow. At the same time of day, a nearby building

casts a 24-meter shadow. How tall is the building?
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6. *Ie-fOOT-TO” Melody casts an 84-inch shadow. How tallis her fiend if, at the same time of day

his shadow is 1 foot shorter than herse
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7. Lance the alienis 5 feet tall. His shadow is 8 feet long.
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At the same time of day, a free's shadow is 32 feet long. What is the height of the tree?
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% 8. Juanita, who is 1.82 meters tall, wants to find the height of a free in herbhackyard. From the
tree's base, she walks 12.20 meters along the tree’s shadow to a position where the end of her
shadow exactly overlaps the end of the tree's shadow. She is now 6.10 meters from the end of
the shadows. How tallis the free?

LD - 1-¥2
X

L)

(V) OO
{3
C'
(o]
Y

\.

(‘]U‘ 24

\8.30 i‘(\.iUIl&%’() m ——|
9. Calculate the distance across this river, PR, by sighting a'pole, af'point P, on the opposite
bank. Points R and O are collinear with point P. Point C is chosen so that OC 1PO . Lastly,
‘point E is chosen so that P, E, and C are collinear and RE LPO. Also explain why aPRE ~aPOC .
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4. Given aDAB and aDcA are right triangles

Prove: ADAB ~aDCA x
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Skills Practice: Proving Similar Triangles
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1. Prove: aNTI~aNMA
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2. Given: LM =/P,Z0=/Q 3. leen:F=J—L, and £G=/J
Prove: AOMN~AQPR " Prove: AGHI ~ AJKL
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